x—9860GII F [ EThiR] #EFIEHE GHTRELIY)
TngsSL% A IIWN—F>
COMPINT COMPIN
COMPINT
for fx-9860Gl|
EH# Locate 1,1,"=Compound Interest="
B: t& Locate 1,2,"1-Cap:"
R: &FI(%) Locate 1,3,"2-Rat:"
N: SRFEARE () Locate 12,3,"3-Yrs:"
T: RFMREE Locate 1,5,"Total"
M: B &RiFE%EE Locate 1,6, "Month"
K: F—3—F 0—B:0—R:0—N:0—T:0—M
X: INP, 3DS [TETLEH
Y: INP, 3DS IZEYTZ# |Do
Z: INP, 3DS IZETEH

MATLZABEYIIN—F>
s AHRYHYR2.1G: INPI
“AARYIR2.0G: INP
-3HTRY0Y: 3DS

l\Z‘ T 25 ‘[‘i
[EXIT] ¥—TEEKT

AR—R15F—

AR—Z15{F—

AR—R15{F—

Locate 16,7, "<EXIT>"

0—K:Do
Getkey—K
LpWhile K=0
K=47=Break

If K=72:Then
7—X:2—Y:12—D:2—E
Locate X,Y," "
Prog "INPI":Z=Z—B
B—Z:Prog "3DS"
Else If K=62:Then
7—X:3—Y:4—D:2—E
Prog "INP":Z=Z—R
R=Locate X,Y,R
Else If K=52:Then
18—X:3—Y:3—D:2—E
Prog "INPI":Z=Z—N
N=Locate X,Y,N
IfEnd:IfEnd:IfEnd

If BRN:Then
Int(B(1+R=100)"~(N))—T
Locate 7,5," "
T—Z:7—X:5—>Y

Prog "3DS"

Int(T+=N+12)—M

Locate 7,6," "
M—Z:7—X:6—Y

Prog "3DS"

IfEnd

LpWhile 1
ClrText
Locate 9,4,"Bye!"

1/1R=2
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